EARAROBEEIERT — 2 N— IBISH —F

20145F4H228 (K) 2EI%H#A1H

m,s\ COTEsERl A2 vo5%—# ‘ %] & ‘ [eErsm]  — | 4 (&) 1800M B
[AxE4£]1%&:370,000 ™ ~ 2#&:74,000”  33#%&:37,000MW  4%&:0MH / 5&:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NS EE#E :58. 22— . — REER— (51R)
N RES S o7 =S 1(5_8)1 2-2-2-2 | 36.6 1 <5+140) [ A
RTANET YY1 BIAYCELTL— TH T
> 6 | RINAR 1:58.3 1-1-1-1 [37.0| — 3 468 | MIEE={R (S2H2)
2 1 08 LA ~ 56.0 (11/2) (+5) agE
R/ KRS vyy BAACO—X V3 hBERBS
509 410 | BHEN 1:58.4 4-4-3-3 [ 36.3| — 2 510 | HUFER (5£H)
BN o | FE/TTTY 57.0 (3/4) 4g) | (B J P NHHt
Bl < = SV N ) ity FESA
Saor S > ETIEs : —3-4- — REEE (1)
alsls|/So8nz a2 > 8| B 1.(55.6 3-3-4-4 | 37.6 4 <4+919) i A
KB ThT— B:IN-TLESH N B LS
s = PN TEARIE= :59. —6-6- . - REER— (%12)
50717 I—v> F7aR=> 7 56.0 (11 519/29) 6666 | 37.4 6 :f) INBF AR :
A :Dynaformer F:/N—F> hAH—JIL Winchester Farm
4 8 | BBt 2:00.0 7-7-5-5 | 37.4| — 7 482 | /NERBEER (55H2)
6 4| EANI—F— 56.0 1/2) © &) H—2r7
L:TITRAFIEN B2/ 717 — BRI LXK
T > 8 | EE 2:01.3 5-5-7-7 [39.0| — 5 464 | BEEHIER (5H)
7 glEHILTUZR “ 7 86.0 ®) 2) | (B J P N
XD THANAN B:TLA NI —T7— (B) A1 -FRL—->a>@aEI7r
® I —F—EBIERL
13—7+— 1,3,6,2,6,7,4
2= = 1,3,5,2,6,7,4
Jol=5r= 1,3,2,5,4,7,6
40—+ — 1,3,2,5,4,7,6
[ N3
BB 3 130H4 714K 1-3 230M B = 1-3 460M 3EHE 1-2-3 370M
8 B 3 110 2=} 120H B H 3-1 750M K31 3-1-2 1,130H
1 210M 1-2 280M

ABICOVWTRDTEEERROODE. TR LIV,




